
¼ÀTಯವÄ, ತ�� �ತ�q �¥/�]5
}¯�4 =ದ ¾ೇಳwೇ¸. ಆದ¼ ಕ4Â ಎ<�
ತಕ�ದ ¢3V ಅz'ರYÄತ°©ೇ ಅವರ
\ೇ��ನವ�q ಅ=\�>=e ಪ3ಗfo �3
�ಡwೇ¸ ಎ�q0°¼. \ೇವ�]ದ �ೈ\ಕ ಪ�sq
ಬ=vಗ – ಆತ�p®V ಒಪ¥ದ=ತಹ �=ದ%�
ಬ=vಗ �ತ� 7�ೇ~� ಒVe ]¨G
�ಡwೇn=e ]uX0°¼. ಆದ¼ ಅÄhರ
]ದ ¯ನq �!ಯ)�Z. ¼ÀTಯವÄ ಬ¼ೇ
¯~q¯��ಯವ�q ¾ೇV }� �wೇn=e
Wyoದ¼, ಅÄh, ¯ನq¯��ಯn²
0=\�ಕ ತಕ�ದ 'ರಣಗಳ<�Zೇ %�r�{ರದ
'ರಣಗ2 �>ೇ� p�ನ�]5ÄCದ3=ದ,
ವ�ವ�Q�ಳV n<� �ACe ಕ/�>=e
¾ೇ20°¼. ಇZೇ 'ರಣ'²5 ಅವÄ k~ವDV
}=S 7ಜjೇಯ]5 �j�ಯ]ÅCದMq
}7ಕ3X0°¼. ¾ೇV ಐಎಎ6 ಅz'3ಗಳ
�ತ�YZ�ೇ, ¾ೇV 7ಜjೇಯ ~ಯಕರ,
�=\�ಗಳ, d�ಕರ �ತ�YZ�ೇ, tVೇ
ಆ=©ೇ<ನ �Aವವರ, �'�ರವ�q
ಪ�mqo ಜ]��3ಯನqJೇ®Xವ '�=\'3ಗಳ
ಅವ&�ಕL�ಇZ.
ಆ=©ೇ<ನದ)� 8ಡ5«=ÀÄವವರ

ಬV½ ~Cಗ2 ಕ)¥o«=ÀÄವ ಪÀಯE��q
�3ಯwೇn=e ಅÄh ]uX0°¼.
ಆn ZೇವA=5�ಯ)� ಬಡವರ ನA>
ಇÄCದ¦², Zಹ)V ಬ=e �.ಎ=. ಕೃ/±ರ
�=5ೇತ ಕಛೇ3 nೇ2Cದರª�, �d�ತ�
�=5ೇತವ�q ಆpxuXCದರª� ¢CZೇ
Y�ೇ|��Y<� ಎ=e ¾ೇ20°¼.
ºೇV ಅÄh, 7ಜpQನದ ಬಡತನವ�q
ಅ�%YoದÁ, 7ಜpQನದ �º*¢5,
ತ!ಯ �ೇ! �ರÅ ಎ*e �ಖ �y� ಆ
��ಜದ)� )ೇನ]Åವ Á�=ತರವ�q
ಒ+¥Cu<�. �ಹ�ೇವನ �Àದ�ತ�n² ~>ೇ
ಅವ7ಗwೇn=ZೇM ಇ<�.
�5Xವ �ನq ಒ=e ಗ��\°ನ ಕ§.

:ೇ)6 ND =ದ ಕ¼ ಬÄತ°Z. ಅ)� ಒಬ£
�ವಕ ಕ2Yನ �ೈಕµ�=ದ�q �7ಟ
�ಡ- ಪ�ಯ\qX\°v�ಗ oj²�ದ��=e,
ಅವನ ತ=Z ಎ=.n.ಎ6.ಎ6.ನ)� n<�
�A\°ÄCದ3=ದ ಅÄhರ ತ=ಡದವರ�q
ಕ¼X0°¼. ಆ bAಗನ ಕ§ ಗ��\°ನe�.
ಅವ� ಉದಯ+ರu=ದ ZೇವA=5�V
(160 jµೇಮೇಟ¤) ಬರwೇn=e n<�
�A\°ದ� �)ೇಕನ)� ಪ�¢ಣn² eAT
nೇ20°�. ಇ<�>=vಗ o��ನ)�, ಅ!�ೇ oಕ²
�ೈಕ<��q ಏ3 ಊ3V ಪ�¢ಣ w*X0°�.
v3ಯ)� �ೈಕ­ ಚೈ� �3�ತ°Z. ಅದ�q
�ರ��S° �ಡ- pH�Y<�. ಅದ�q ಅ!�ೇ
�l� ಪಕ²ದ)� oj²ದ ¼ೈತRಬ£ನ �ೈಕ<��q
SK�0° �=ದn² ³ೇÅ0°�. ಅe
ಪ=E7Åತ°Z. ಪ=Eರ=ಗÀಯ)� �ೈಕ<��q
�l�, 3Jೇ3 �Aವ/�ರ)� ‘ಇ!�ೇ ಬÄL°ೇ�’
ಎ=e ¾ೇK �8°=e �ೈಕ<��q SK�0°
ಊ3V ಬÄ0°�. ಊ3ನ �ಮೇಪ ಬ=vಗ
ಏM 8ೇEZೇ �ೈಕ<��q �ರ- ಪ�ಯ\qo
oj²�ೇ20°�.
ಒ=e 3ೇ\ಯ Yyತ� eರ=ತ ಕ§ಯ)�

�3–ತ+¥ಗ2 ¢CZ=e – ಅದರ
ಪ�,ೇದ'=&ಗ2 ಏ��qವ ಪ�sqಗ2
ಉದ¡ವ]Åತ°>. ತ+¥–m�ಯ wೈನ3
ಬej}=ದ, ತJ¥�ಗ- ಉ=�ದ �=ದ%�ವ�q
ಪ3ಗfovಗ �ೇವನದ �=jೇಣ� ರ=Åಗ2
ನ�V 'ಣoÅತ°>. +�°ಕeದ�¦² ಅÄh
ತ�� ಈ S�< �S° ದx=ದxಗಳ�q
ಹ=y«2�0° ³ೇÅ0°¼. }ರ=ತರ]5
ಅ¬�ದ bA'ಟದ)�Äವ, ಆ=©ೇ<ನ
�S° ³ೇ7ಟ>ೇ ಪಯಣದ 'ರಣ ಎ�qವ
�ವ� ನ�V ಇದ3=ದ oÅತ°Z. ಒ=e
ಅe¡ತ ಬeಕ�q ಆ�� ಜನ395 �ೇYoದ ಈ
ಪಯಣದ ಬV½ ಅ3�Cದ3=ದ ಉ=�Åವ
p¬�ಕ�ವ�q Yವ3XCe ಕ/�.
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